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STARTER: Short and long multiplication - You can use the expanded
or compact methods.

Year 4 (Year 5 - you can do these as well if you want to):

a) 453x4= b) 1573x 6=

- (Year 4 - you can try these if you want to):

a) 465x12= b) 9573 x 76 =
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LO: To read and interpret line graphs

Task:

You are going to look at line graphs, which show us
continuous (changing) data, and use your reasoning and
problem solving skills.

Success Criteria:

1. Read the problem carefully.

2. Look carefully at what the data is showing you.

3. Use the axes to guide you.

Model:

2b. Petrol Use »Talia is correct because she

° / has read the point where
40 the line crosses 401 as 200
20 miles.

T | |\
0 100 200 300

’\ Distance Travelled in Miles

» € At 200 miles there were
40 litres left.

The car ran out of petrol -
at 300 miles.

ﬁr Explain who is correct.

Petrol (L)

®Deni has misread the graph:
] at 300 miles there is still 20l

of petrol left.

Deni
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1a. The children are looking at recording 4a. Children are collecting information
how many brothers and sisters they each about the places people spend their

have. They gather all the answers in a summer holidays. They can answer using a
tally chart. number of cateqories: home, UK, Europe,

America, other.

Would you use a line graph or bar chart to
represent this data? Would you use a line graph or bar chart to
represent this data?

> 2 |
B H " Explain your answer. s i
“ ®
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2a. Speed of a Runner Sa. Honey in the Hive
12 A~ 300
E g / E E 295
8 40 . € = 150
o E . 5
£ 0Fr T T 1 <3z
1 1 |
0 llinnutei into En 30 Mon Tues Wed Thurs
Day
H At 8 mins he is running at |
20km per hour. . On Wednesday, there was
Greg 300ml of honey.
At 10 mins he is running - Hakeem
at 12km per hour. Thursday is honey >
Heidi collection day.
‘iﬁ Explain who is correct. . i?? Explain who is correct. ~ Hannah
3a. A music festival started at 11am. After 6a. Every day, Jim empties the rain from
20 minutes, the fire alarm sounded and his EcoTank to water his garden.

EVErYOMneE Was evacuated.

Which line on the graph shows what

Which line on the graph shows what happens to the volume of water in the
happened? tank?
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LO: To read and interpret line graphs

Task:

You are going to look at line graphs, which show us
continuous (changing) data, and use your reasoning and
problem solving skills.

Success Criteria:

1. Read the problem carefully.

2. Look carefully at what the data is showing you.

3. Use the axes to guide you.

1. Explain your answers clearly and in detail

Model:
Tommy created a line graph to showthe ~ Tommy is
number of dogs walking in the park one incorrect because
afternoon. you cannot have
1.5 dogs.

A better way of
presenting this
data would be
using a bar chart,
pictogram or table

O T T T because the data

Tpm. Epm'nm: pm. dpm is discrete.

Tommy says,

Number of dogs

At half past one

-

there are 1.5 dogs
in the park.

Why is Tommy incorrect?

What would be a better way of presenting
this data?
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4b. A research team is monitoring the la. What could have happened at 8:15?
weight of a new born baby when he moves Write a story to match the data.

from milk to solids. The baby will be

weighed in pounds and ounces.

Speed of a Car
3% T
) an 4
Would you use a line graph or bar chart to 25
represent this data? -E'
E 20
Explain your answer. P15
prain 3 K0
5 J
a 4
.00 B.15 §.30 BAS 4,00
# e .
5b.  Water in the Reservoir 2a. True or false? Jen is half way
= . through her 90 page book on Thursday.
- g 220 / N
E E 300 _______..-P"’"“----_ \ Pages Read
T E 2o 35
8 i 1aa 30
T T T 1 | i
J F M A M n‘f!"‘ 25 .
Month 5 20

. The water increases as the § 15 !
Yyear goes on. E 10
Mylo .

[ The most water was o
' " L " i i & §
recorded in A.'Flf'll. Monday Tussday Wednesday Tharsday

Luke
ﬁ Explain who is correct. . s ‘i:;? Doy E R

3a. Freddie said that the motorbike

6b. A farmer is worried about his lamb. Its
took 5 seconds to reach its top speed.

weight has been dropping since it was 2

weeks old. By 5 weeks, the lamb is fully Is he correct? Elplﬂill Whga
recovered. Speed of a Matorbike During a Race
Which line on the graph shows the weight? =
10 80
=
_ 8 \ / E &0
< 6 L / '{ 40
%4 : @
5 — 20 +
=
2 L] k 1 ! 4 |
0 1 s 3 4 =

i’?f' 1] ; :_I? :5. il| ;-h. - 1::.? Time [seconds] £ &
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Ja. A farmer is monitoring the weight of a
poorly piglet compared to the weight of a
healthy piglet for the next three weeks to
show the vet.

Would you use a line graph or bar chart to
represent this data?

Explain your answer.

4a. What could have happened between
8:30 and 8:40? Write a story to match

the data.

Speed of the Bus
L

Speed in mph
== == kI B3 L
S| e ;nS

ERD 900 91D
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Time
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8a. Temperature of the House
G 25
a2, 20
I
£ 4p
8 5
E 07T T T T T T T T T 1T
= 2 & 10 2 & 10 2 & 10 2 & 10
Time
L-’_E'!:--4 There can't be two Zam J
rend ings.
Lahar "9

];»d

£ E

The readings are colder
when everyone sleeps-

Explain who is correct.

Ga. True or false. The difference in
totals between each class is £5.

Fundraising

LA
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9a. A weightlifter records his recovery after
an injury. It takes him 4 weeks to return to
lifting half his pre-injury weights and 8

weeks to recover fully.

Which line on the graph shows what

happened?
50— P
B 125 \ i
< 100 Lt
.'ﬁ‘ 75 A
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6a. Peter said that his car toock 14
seconds to reach its top speed. Is he
correct? Explain why.

Speed of A Car During a Race
120 +

100 +
80
&0
40 L+

Speed (mph)

LR T T . . T T T e

2 & 6 8B 10 12 14 16 18 20
M, Time (seconds)
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7a. Jack recorded the speed he travelled 1) Match each graph to the correct story and
during his journey to school every 5 explain your reasoning.
minutes. Write a story to match the 0
data. & a) Zoe takes her hot chocolate
35 - apeed of the Bus § \ out of the microwave. She
§' % then leaves the drink on
E \\\ the side to cool gradually
= — before she drinks it at a
pleasant temperature.
Time
(B) b) Ayaan takes his soup out
p of the fridge. He pours it
=
= into a saucepan and heats
d g it gradually up on the hob.
A B.00 805 B.90 8.15 820 B35 830 035 BAD .45 £
o . &
=11 Time - B ¢) Zara takes her juice out
8a. True or false? Class 2 earned more Time of the ftidje. The drih
is too cold for her, so she
house points than Class 1 and Class 3 ® warms it up quickly in the
combined. 5 b microwave. She must then
House Points Earned Throughout the Year ‘5_‘ / wait a little while am—
150 £ / forittocoolso | '
==Ll 1 E‘ it isn't too hot to
g 145 1 —e=Clam2 2 drink. But, when
B 100 +  wpClas3 / she does drink it, | -
% 7 Time it is just right. S
-E 50
3 2) Eddie wants to eat some soup.
25 Based on this line graph, g
0 : i write a story about how B
1 2 3 & 5 & the temperature of the soup 2
S e Term . _——._changed over time. &
L= & )
Qa. Isaac said that the car took 4.5 w T
—
seconds to reach its top speed. Is he
correct? Explain why.
Speed of o Car During a Race
120 -
100 +
4 80 |
'E 1)
T
% 40 -
[ta}
20 4+
o L9 — :
" 05 1 15 2 25 3 35 &4 45 5
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